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2H 288
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) (29l & 2)

SN EH - (EH) - HRAY - BES 0l & p/E-T Hl D2
QES 1,024,372 1,008, 132 16,240
HY2AZH (LES)(JIEH/IIE) 401,666 385,426 16,240
J2dH(EE) 401,666 385,426 16,240
N2 257,006 247,006 10,000
201 Let24dy] 257,006 247,006 10,000
02 23=2gHl 204,816 194,816 10,000
O1.3323LHA 168,410 158,410 10,000
-2otSR3 140,000, 000 140,000 130,000 10,000
AR FE L 118,560 112,320 6,240
202 044l 118,560 112,320 6,240
02 N 118,560 112,320 6,240
OEHo 260,000& +38H + 123 118,560 112,320 6,240
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A RIZH(HSH)(IIE/DIE)

D Jl2dul(tsH) fEH)
SN EH - (EH) - HRAY - BES 0l & o1 E o 2

il 593,341 583, 541 9,800
2L AU (HSH)(JIEH/DIE) 227,217 217,417 9,800
Jl2Zd(sd) 206,221 196,421 9,800
N2 107,141 97,341 9,800
201 Let24dy] 107,141 97,341 9,800
02 23=2gHl 77,916 68,116 9,800
O1.3323LHA 62,638 52,838 9,800
-2otSR3 3,900,000& x12& 46,800 37,000 9,800
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2L AU (ZI1H)(JIEHDIE) 262,678 253,678 9,000
Jl=23HI(F01e) 240,550 231,550 9,000
N2 143,410 134,410 9,000
201 LEt2A | 143,410 134,410 9,000
02 32224l 115,115 106,115 9,000
O1.3323LHA 9,000 0 9,000
-EoERS 9,000 0 9,000
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62 EA 0 31,200 28,080 3,120
202 04 Hl 31,200 28,080 3,120
02 2 %0 H 31,200 28,080 3,120
O"doitl 260,000« 10 » 128 31,200 28,080 3,120




